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No. 3 pick-up coil

|

240° (2/3 turn)

No. 2 pick-up coil

1) Switching circuit is turned off.

2) Primary current in No. 3 ignition coil is interrupted.

3) High voltage is induced in secondary circuit. Although there is a spark
in No. 3 cylinder caused by this induction, no ignition takes place in it

because it is on the exhaust stroke.

i Distributing circuit is ON, then primary current flows to No. 3 ignition
coil.
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Distributing circuit is turned on, then primary current flows to No. 2

ignition coil.

360° (1 turn)

1) Switching circuit is turned off.

2) Primary current in No. 2 ignition coll is interrupted.

3) High voltage is induced in secondary circuit. Ignition takes place in

No. 2 cylinder.




